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Question No. I is compulsory.

Attempt any /o?r questions out of question nos. 2 to 7.
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(D H si stc o1 qrqr 6tqn s0 wn sf( E-dIi

tr Ai vftrd'ft qrer ii g+' vC soo E-onql ot
Bffi<r m-cF 10,000 {q-q ql gnr-er6 otq vrq rrdr

tr qt qt sd +isl-d t qi {ilfl fr srq qqqfi ;

v'C oqr eMR qr ereq-qrtrc ffir {forotc {gor
ffi elfsqr

(ir) q qorflmt qrqrtsrs- sc t Esilq vflr(r t5-kll

t eq-* erft qR rfi se-a d qrfi t ? er
Ipt ft1qn fqq-€-+au utqrfd+, o-qrq ql orfBr+-ilq

mrar t qFrd z ilgffi \srfie-il q1 rrdmdr

t qrsr +lfqqr

(r) what is natural monopoly ? Explain using examples. Why

a natural monopolist cannot be tbrced to charge a price

equal to its marginal cost ? Illustrate using diagrams. 5

(1,) Explain and show why the value of marginal product

of labour curve is the demand curve of labour for a

firm ? 5

(irr) How is the purchase price of a factor different fiom its

rental price ? Explain the change in the rental price of

a factor if the supply of other factor. used in production.

( ll )

I. Attempt any fve pans : 5'3

(0 Explain the concepts of change in quantity demanded

and change in demand.

(r, What is the diff€rence between a positive and a normative

statement ?

(rr,) Explain why two indifference curves don't intersect each

other.

(rv) Why the economic cost of a firm may be higher than

its accounting cost ?

(v) 
. Explain why is a monopolist's marginal revenue less than

the price of the good ?

(v0 Why a firm in a perfectly competitive market faces a

horizontal demand curve when the markei demand curve

is negatiYely sloped ?
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(i, qHr f6' tn oJ so tE o'r enrnr srqqT 10,000

rqi mr sqli'r d * qt{ qfi gr{r tr qR e-6

o,ooo wi cft qqr6 sc+T mti fl fpiq +fi
gs(Er K{ q{igqr qR w-+l q-q1i

qt so tqi E_c qrq dqT gsrr-t cFdt{rc{ ye{rs

snq ernq t oTftrfi t A sa-* ernrq * dii
q Ai srA ck*h q1 qfql q-sqr qltqqr

tti,) l-fl*rdr e!E'i6-r ors-R +sr tn qE Etfr qS(

\q. (sn d f,'f YFffsrcn tr qql, qreil *1fqqr

(r) The market price of a face cream is Rs. 50 per unit.

At short-run equilibrium in a competitive market a firm

is earning an economic profit ofRs. 10,000 by, producing

500 units. Find average total cost and the marginal cost

of the firm. Will the fiim continue to earn the same profit

in long-run ? Show the short-run and long run equilibriums

of the firm and the market. 'l

(r,) Does a monopolist lroduce the socially efficient quantity

of output or a deadweight loss is created ? Will perfect

price discgimination practiced by the monopolist

maximize the social welfare or not ? Explain using suitable

diagrams. 8
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(rv) v,d +1 eTf+*- errd Aut drrd t erfir* +it

As+.-fit ?

(v) qq +lfrq f* q*rftr6Tfr 61 Sci( enqq qq

6i slqd t qq +it a-fi t ?

(v0 ffi 1,i sft$'fr s{ Er ci{ qs. *fnq d-dr

t qqffi qqr zET qirr q-fi uuTreFF- 6re zFI

a-dr t, wJ, qreqr ihlfrqr
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6.

z(D Why does the society face the trade-off between efficiency

and equality ? Explain. 4

(O The market demand and supply curves of a commodity

are given by Qd = 90 - 6P and Qr = - 20 + 4P respectively

Find the elasticity of demand and the elasticity of supply

at equilibrium. 6
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(iiO Distinguish between a "substitute" and a "complement"

of a good. What will happen to the equilibrium price

and quantity of commodity 'X' when both, the price

of its substitute and the price of its complement, rise

simultaneously ? Illustrate all the.possible changes using

suitable diagrams 5

(r) sglq ql qqrdl nql qqs-61 $'qq qlEiqFI tFT

qrq-{r d 6'Ffi T.sfi t 7 qrql 61fuq1

(iD . fls$ sE 61 erw{ qil dql {id sqvt: Qd= so -op

f,qt-es = - 20 * +p fr T4 t r +igil{ *1 sr++qr fr qiq

o1 d-q eqr {fd 61 ms q5 alfsqt

(,r) fq-d qq 6l "qfr{rilq{" qq nqt {4d- qq

* qq q<q ru€ s1fuqr eq x s1 {gil{

61q( ffir nflr d flr qfisdr &n qR ss q€

q1 rir€ilqr dql {r* {Ssi ft1 qffi g* qq

q-c qrEr eqgm W* qi vordl + {qridd

qfffdq +l <cli{ql

(ri) Assume that inhially Rita has to choose between 50 hours

of leisure or Rs. 10.000 of consumption per week. What

is her hourly wage rate ? Show her optimal choice if

she decides to consume Rs. 6,000 per week lllusrate

using diagrams the change in hours of leisure and

consumption if her wage rate increases by Rs. 50 per

hour and her substitution effect dominates over the income

etlict. '1

(rii) what will be lhe shape of indifference curve when both

the commodities are perfect substitutes to each other ?

Explain, why. 2

(, sqsl)fir srq-fi qqe tq q{ scliq * 1*0, &E

i*-s r-+-r< qq=t tr-rar t ? sk aq x *1 otrt
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(i,D frqfclsd {Ir"fr 4l Toi qt qf( | {fiT€ Yrcrcr

6i sts( ftsrr errrd (AFC) 60 w+ t-

(0 How does a consumer choose an optimum point of

consumption on his budget line ? If the price of good

X is Rs. 36 per unit and the marginal rate of substitution

(MRS) is 3 then what will be the price of good Y at

optimum level of consumPtion for the consumer ?

(Assuming that the quantity of good X is shown on

horizontal axis and Y on vertical) 6

8

Output TC TVC TFC AVC AFC ATC MC
(

.,)

3

90

106

17

t20

135

162

203
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(r) Why the members of the Organization of Petroleum

Exponing Countries (OPEC) could successfully increase

the price of oii by reducing its supply in the short-run

but failed to keep it high in the long-run ? Illustrate

using diagrams. 5

(ii) The demand and supply equations for cricket balls are

given by Qa -500 - 8P and Qr - l0'2P respectively.

Find the equilibrium price and quantity of cricket balls.

Assume that now the government imposes a tax of

Rs. l0 per unit on lhe buyers of the cricket balls. Find

the price paid by buyers, received by sellers and the

quantity sold and purchased in the market afler the tax.

Who is bearing the larger burden of the tax, buyers

or the selfers 'l 6

(ii0 Explain how the binding price floor affects the market

outcontc.

(r) i-}fdqq ftq.|il+. ilit * sTI * v(q sreFFIeI

d erearaA-o A-d q"t 1fd Fq o-{* Es+1 +lcd
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Complete the following table if the AFC at I

production is Rs. 60.

TC TVC TFC AVC AFC ATC

90

r06

\7

t2o

t35

t62

N3

2@
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(,, ffiz 6fd + m Ef,r nqr ftd n+s-{ur *rryr:

Eq rz6R t ed= soo - 8p nqt er= to+2pt

qrt dfuA i+.qron ffiz dq c1 sfl-< qr

lo wA sfr Efrr$ sl drrr tfr tr #ar an <t

rr* aqr ffidr ERr nTR sl rr4 +1qr nq q-r

* qn qrfl I tr* q qfrfr ml qrx rn olfqqr

qr m srRroivr qn +{ {rEr ${ 16r t, *dr

qI ffidI ?

qrrr <twm,fr *1qe qren + qftunq *1 t+,s

y-sR Tqrfud 6cfr t ?

Explain the relationship 
.between 

size of the tax and the.

tax revenue using Lafler curve. What happens to deadweight

loss when the size of the tax increases? If the deadweight

loss of taxation becomes equal to total surplus, how

much will be the tax revenue ? 6

Why the economies and diseconomies of scale may aqise

in long-run ? 3
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